Texas Department of Information Resources DIR-TSO-3103 - Appendix C, Pricing Index Category: NON MULTIFUNCTION DEVICES Amendment 3

Multifunction (MFD) Device Pricing

60-MONTH LEASE TERM has no further renewal options and survives the contract term expiration. Customer election of a 60-Month Lease Term invokes Appendix A, Standard Terms and Conditions for Products and Related Services, Section 4. General Provisions, A. <u>SURVIVAL</u> which states, "All applicable software license agreements, warranties or service agreements that were entered into between Vendor and a Customer under the terms and conditions of the Contract shall survive the expiration or termination of the Contract. All Purchase Orders issued and accepted by Vendor or Order Fulfiller shall survive expiration or termination of the Contract. Rights and obligations under this Contract which by their nature should survive, including, but not limited to any and all payment obligations invoiced prior to the termination or expiration hereof; obligations of confidentiality; and, indemnification, will remain in effect after termination or expiration hereof."

Monochrom	ne, B&W MFD				MODELS WITHIN V	OLUME BANDS	
Volume Band M1		Per Minute (PPM	1)		M1 M2 M		M5
Volume Band M2	<u> </u>	Per Minute (PPM		MX	β10dn MX410de MX6100 MX510de MX6110		N/A
Volume Band M3	0	Per Minute (PPM	,		MX511de MX710	dhe	
Volume Band M4	U	Per Minute (PPM	,		MX8100 MX8110		
Volume Band M5	0	s Per Minute (PF	,		MX9110	dte	
Color and B	S&W MFD	•			C1 C2 C		
Volume Band C1	1 - 30 Pages	Per Minute (PPM	1)		310dn CX410dte X954dh		
Volume Band C2	Ŭ	Per Minute (PP	,	X92	25de CX510dte X746de		
Volume Band C3	51 + Page	es Per Minute (Pl	PM)		X748dte		
		· · · ·			X792dtme		
					X950de	1	
Volume Band	M1	1 - 30 Pages Per Min	ute (PPM)				
Base Monthly VC	DLUME	Avg. 2,500					
Manufacturer, Model, Featu	ures, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFP Printer, MX310dn;Print,copy,scan ppm;800 MHz Dual-core;256MB RAM;I Ethernet;PostScript 3 & PCL 6;OCR so pages/month recommended;1-Yr onsite modes;Ships w/ 2,500-page cartridge	USB,10/100BaseTX ftware; 250 to 6,000 e warranty;Quiet & eco	35S5700	35	\$501.43	33.54%	\$333.23	NA
Equipment Monthly Le	ase Payment		36 Mo		60 Mo		
Annual Maintenance Including all Su Leased Device	pplies for Purchase &	Monthly Base Maintenance \$	\$14.86 Copy Allowance (Number of Copies Included)	Overage Rate	\$9.54 Cost per Copy for Monthly Base Maintenance		
	Year 1	\$ 7.60	250	\$0.0304	\$0.0304		
	Year 2	\$ 7.60	250	\$0.0304	\$0.0304		
	Year 3	\$ 7.60	250	\$0.0304	\$0.0304		
	Year 4	\$ 7.60	250	\$0.0304	\$0.0304		
		\$ 7.60	250	\$0.0304	\$0.0304		

Mul	tifunctior	n (MFD) De	evice Pi	ricing		
Volume Band M2	31 - 49 Pages Per Mi	inute (PPM)				
Base Monthly VOLUME	Avg. 20,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFP Printer, MX410de;Print,copy,scan,fax;Duplex std;up to 40 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;750 to 10,000 pages/month recommended;1-Yr onsite warranty;quiet & eco modes;ships w/ 5,000-page cartridge	35S5701	40	\$752.00	33.54%	\$499.78	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 22.31		\$ 14.32		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 22.80	750	\$0.0304	\$0.0304		
Year 2	\$ 22.80	750	\$0.0304	\$0.0304		
Year 3	\$ 22.80	750	\$0.0304	\$0.0304		
Year 4	•	750	\$0.0304	\$0.0304		
Year 5	\$ 22.80	750	\$0.0304	\$0.0304		
Volume Band M2	31 - 49 Pages Per Mi	inute (PPM)				
Base Monthly VOLUME	Avg. 20,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFP Printer, MX510de;Print,copy,scan;Duplex std;up to 45 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;2,000 to 12,000 pages/month recommended;1-Yr onsite warranty;quiet & eco modes;ships w/ 5,000-page cartridge	35S5702	45	\$ 1,130.00	33.54%	\$751.00	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 33.48		\$ 21.49		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 45.40	2,000	\$0.0227	\$0.0227		
		2,000	\$0.0227	\$0.0227		
Year 2		2,000				
Year 2 Year 3	\$ 45.40	2,000	\$0.0227	\$0.0227		
Year 2	\$ 45.40 \$ 45.40		\$0.0227 \$0.0227	\$0.0227		

Mul	tifunction	(MFD) De	evice Pi	ricing		
Volume Band M2	31 - 49 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 20,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rent (Includes Main Supplies)
MFP Printer, MX511dhe;Print,copy,scan,fax;Duplex;45 ppm;800 MHz Dual-core;512MB RAM;160+GB hard disk;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;2,000 to 12,000 pages/month recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 5,000-page cartrtridge	35S5704	45	\$1,632.86	33.54%	\$1,085.20	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 48.38		\$ 31.06		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 45.40	2,000	\$0.0227	\$0.0227		
Year 2	\$ 45.40	2,000	\$0.0227	\$0.0227		
Year 3	\$ 45.40	2,000	\$0.0227	\$0.0227		
Year 4	\$ 45.40	2,000	\$0.0227	\$0.0227		
Year 5	\$ 45.40	2,000	\$0.0227	\$0.0227		
Volume Band M3	50 - 68 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 35,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Ren (Includes Mair Supplies)
MFP Printer, MX610de;Print,copy,scan;Duplex;50 ppm;800 MHz Dual-core;1GB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6 emulations;OCR software;2,000 to 15,000 pages/month recommended;1-Yr onsite warranty;quiet & eco modes;ships w/ 7,500-page cartridge	35S6700	50	\$ 1,758.57	33.54%	\$ 1,168.75	NA

Equipment Monthly Lease Payment		36 Mo		60 Mo	
		\$ 52.11		\$ 33.45	
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance	
Year 1	\$ 45.80	2,000	\$0.0229	\$0.0229	
Year 2	\$ 45.80	2,000	\$0.0229	\$0.0229	
Year 3	\$ 45.80	2,000	\$0.0229	\$0.0229	
Year 4	\$ 45.80	2,000	\$0.0229	\$0.0229	
Year 5	\$ 45.80	2,000	\$0.0229	\$0.0229	

Mul	tifunctior	n (MFD) De	evice P	ricing		
Volume Band M3	50 - 68 Pages Per Mi	inute (PPM)				
Base Monthly VOLUME	Avg. 35,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MX611dfe; Print,copy,scan,fax ;Duplex std;up to 50 ppm; 800 MHz Dual-core;1GB RAM; USB,Gigabit Ethernet; PostScript 3 & PCL 6;OCR software;2,000 to 15,000 pages/month recommended;1-Yr onsite warranty;quiet & eco modes;ships w/ 7,500-page cartridge	35S6744	50	\$2,261.43	33.54%	\$1,502.95	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$67.01		\$43.01		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 45.80	2,000	\$0.0229	\$0.0229		
Year 2		2,000				
Year 3 Year 4		2,000				
Year 4 Year 5		2,000	\$0.0229 \$0.0229			
Volume Band M3	50 - 68 Pages Per Mi	inute (PPM)				
Base Monthly VOLUME	Avg. 35,000	_				
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFP Printer, MX710dhe;Print,copy,scan,fax;Duplex;63 ppm;800 MHz Dual-core;512MB RAM;160+GB hard disk;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;5,000 to 25,000 pp/mo. recmnd;1-Yr OS wrnty;quiet & eco modes;ships w/ 10,000- page starter cartridge	24T7310	63	\$ 3,267.14	33.54%	\$ 2,171.34	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 96.81		\$ 62.14		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1		5,000			1	
Year 2		5,000 5,000			•	
	ψ IUU.UU	J,000	ψ0.0200	φ0.0200	1	1
Year 3 Year 4		5,000				

Mul	tifunction	(MFD) De	evice Pi	ricing		
Volume Band M3	50 - 68 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 35,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFPPrinter,MX810dxpe;Print,copy,scan,fax;Duplex std;up to 55 ppm;800 MHz Dual-core;1GB RAM;160+GB hard disk;USB,Gigabit Ethernet;PS 3 & PCL 6;OCR software;5,000 to 35,000 pages/month recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 25,000-page cartridge	24T7417	55	\$ 5,781.43	33.54%	\$ 3,842.34	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 171.30		\$ 109.96		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1		5,000			-	
Year 2 Year 3		5,000				
Year 4	\$ 88.00	5,000	\$0.0176	\$0.0176		
Year 5	\$ 88.00	5,000	\$0.0176	\$0.0176		
Volume Band M3	50 - 68 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 35,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFP Printer,MX811dxpe;Print,copy,scan,fax;Duplex std;up to 63 ppm;800 MHz Dual-core;1GB RAM;160+GB hard disk;USB,Gigabit Ethernet;PS 3 & PCL 6;OCR software;5,000 to 35,000 pages/month recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 25,000-page cartridge	24T7429	63	\$ 6,535.71	33.54%	\$ 4,343.64	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 193.65		\$ 124.31		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1		5,000				
Year 2 Year 3		5,000 5,000				
Year 4	\$ 88.00	5,000				
Year 5	\$ 88.00	5,000	\$0.0176	\$0.0176		

Mul	Multifunction (MFD) Device Pricing								
Volume Band M3	50 - 68 Pages Per Mi	nute (PPM)							
Base Monthly VOLUME	Avg. 35,000								
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)			
MFP Printer, MX911dte; Network-ready; print, copy, fax and scan; up to 55 ppm; Dual Core 800MHz Processor; 1024MB RAM, 320+GB hard disk; 1200 x 1200 dpi; 2,150-sheet standard input; 150-sheet multipurpose feeder; time to first page as fast as 5.5 seconds; Lexmark e-Task 10-inch (25 cm) class color touch screen; 100-sheet Single Pass Duplex document feeder; USB and Gigabit Ethernet; Front USB Direct port; PostScript 3 and PCL 6 emulations; 15,000 to 50,000 pages per month recommend monthly usage.	26Z0101	55	\$ 13,699.00	33.54%	\$9,104.36	NA			
Equipment Monthly Lease Payment		36 Mo		60 Mo					
		\$ 405.90		\$ 260.55					
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	CPC for Monthly Base Maintenance					
Year 1	\$ 216.00	15,000	\$0.0144	\$0.0144					
Year 2	\$ 216.00	15,000	\$0.0144	\$0.0144					
Year 3	\$ 216.00	15,000	\$0.0144	\$0.0144					
Year 4		15,000	\$0.0144						
Year 5	\$ 216.00	15,000	\$0.0144	\$0.0144					

Multifunction Device MFD

Manufacturer. Model, Features, Description Part Number RU dry 1/gene Mark MSRP Uncluster Ubsculation Part Number RU dry 1/gene Mark Part Number Part Number RU dry 1/gene Mark Part Number Part Nu	Mul	tifunction	(MFD) De	evice Pi	ricing		
Manufacturer, Model, Fedures, Description Part Number No. of Arg. Pages Per Minule (PM) INS.PP DIR Contours Discourts from MSRP Optications from MSRP Monthly Fedures, EACMAIN INSER- Discourts Monthly Fedures, Part Number PM MIP Printer, MO120e- Netoric ready print copy for and scare ip to opin that Core Work Processon 102/MIR MAAL, 2007 G18 and disc. Visit 2009 and 2005 and FCD and Core III Distribution 102 biols of the Core Statuter Injunct (Statute Earlier Federal Core Statuter Injunct (Statuter Earlier Federal Core Earlier Federal Core Federal Core Federal Core Federal Core Earlier Federal Core Federal Core (Statuter Earlier Federal Core (Statuter Earlier Federal Core (Statuter Earlier Federal Core (Statuter Earlier Federal Core (Federal Earlier Federal Core (Federal Earlier Federal Core (Federal Earlier Federal Earlier Federal Federal Earlier Federal Earlier Federal Fed	Volume Band M3	50 - 68 Pages Per Mi	nute (PPM)				
Manufacture, Model, Features, Description Part Number No. of Aug. pages Per Minute (PM) MSRP DRC Customer Discurdts Purchase File Customer	Base Monthly VOLUME	Avg. 35,000					
up to 5 gene Dual Core 800/Mit Procision: 102/MB RVM, 2020 2620102 55 \$ 19,199.00 33.54% \$ 12,759.66 NA 200-GB and disk. Task 16-hrd; Core Oxford Sequence Header: USB and Gapace Task 16-hrd; Core Disco Carbon medination of the Stage Pass Dujek document feeder: USB and Gapace Task 16-hrd; Core Disco Carbon medination of the Stage Pass Dujek document feeder: USB and Gapace Passing 3 and PL core Disco Carbon medination of the Stage Pass Dujek document feeder: USB and Gapace Passing 3 and PL core Disco Carbon medination of the Stage Pass Dujek document feeder: USB and Gapace Passing 3 and PL core Disco Carbon medination of the Stage Pass Dujek document feeder: USB and Gapace Passing 3 and PL core Disco Carbon medination of the Stage Pass Dujek document feeder: USB and Gapace Pass Dujek document feeder: USB and Gapace Passing 3 and PL core Disco Carbon Stage Pass Dujek document feeder: USB and Gapace Pass Dujek document feeder: USB and Carbon Passing 3 and PL core Disco Carbon Pass Dujek document feeder: USB and Carbon Passing 3 and PL core Disco Carbon Pass Dujek document feeder: USB and Gapace Pass Dujek document feeder: USB and Pass Dujek document feeder:	Manufacturer, Model, Features, Description	Part Number	•••	MSRP		Purchase Price EACH/Unit (MSRP-	Monthly Rental (Includes Maint & Supplies)
Annual Maintenance Including all Supplies for Purchase & Leased Unorthy Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Base Maintenance 3 Copy Altowneer Gument Copy for Monthly Copy for Monthy Copy for Monthly Copy for Monthy Copy fo	up to 65 ppm; Dual Core 800MHz Processor; 1024MB RAM, 320+GB hard disk; 1200 x 1200 dpi; 3,650-sheet standard input; 150-sheet multipurpose feeder; time to first page as fast as 5.2 seconds; Lexmark e-Task 10-inch (25 cm) class color touch screen; 100-sheet Single Pass Duplex document feeder; USB and Gigabit Ethernet; Front USB Direct port; PostScript 3 and PCL 6 emulations; 15,000 to 50,000 pages per month recommend monthly usage; 1-year Onsite warranty; ships with 21,000-page	26Z0102	65	\$ 19,199.00	33.54%	\$ 12,759.66	NA
Annual Maintenance Including all Supplies for Purchase & Leased Device Monthly Base Maintenance S of Copy Allowance Number of Copies Included) Overage Rate Cost per Copy for Monthly Base Maintenance Year \$ 201.00 15.000 \$0.0134 \$0.0134 Wolume Band M4 69-89 Pages Per Minute (PPM) \$0.0134 \$0.0134 Manufacturer, Model, Features, Description Part Number No. of Avg. Pages Per Minute (PPM) Customer Discount % functioner Discount % functiones No.00 25.000 page Price Parchase Pri	Equipment Monthly Lease Payment		36 Mo		60 Mo		
Device Induity Base Maintenance of Copies Included) Orwage Rate Base Maintenance Year 1 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 2 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 3 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 4 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 5 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 5 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 5 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Wolume Band M4 69-89 Pages Per Minute (PPM) Year 5 \$0.0134 \$0.0134 Manufacturer, Model, Features, Description Part Number No. of Avg. Pages Per Minute (PPM) MSRP DIR Customer Discount % (Includes N Supplit (Includes N Supplit Charge N Discount) \$0.0114 (MSRP, Discount) \$0.0114 (MSRP, Discount) \$0.0114 (MSRP, Discount) \$0.0114 (MSRP, Discount) \$0.0114 (Includes N Supplit (Includes N Supplit (Includes			\$ 568.87		\$ 365.16		
Year 2 \$ 201.00 15.000 \$0.0134 \$0.0134 \$0.0134 Year 3 \$ 201.00 15,000 \$0.0134 <	· · · ·	Monthly Base Maintenance \$		Overage Rate			
Year 3 \$ 201.00 15.00 \$0.0134 \$0.0134 \$0.0134 Year 4 \$ 201.00 15.000 \$0.0134 \$0.014 \$0.0134 \$0.0134 <td< td=""><td>Year 1</td><td>\$ 201.00</td><td>15,000</td><td>\$0.0134</td><td>\$0.0134</td><td></td><td></td></td<>	Year 1	\$ 201.00	15,000	\$0.0134	\$0.0134		
Year \$ 201.00 15.00 \$0.0134 \$0.0134 \$0.0134 Year 5 \$ 201.00 15.000 \$0.0134 \$0.01164 \$0.01164 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>							
Year 5 \$ 201.00 15,000 \$0.0134 \$0.0136							
Volume Band M4 69-89 Pages Per Minute (PPM) Image: Construct of the second							
Base Monthly VOLUME Avg. 50,000 Manufacturer, Model, Features, Description Part Number No. of Avg. Pages Per Minute (PPM) MSRP DIR Customer Discount % from MSRP Customer Purchase Price EACH/Unit (MSRP, Discount) Monthly R MX711dthe: Print,copy,scan,fax; Duplex std:up to 70 ppm; 800 24T7406 70 \$4,712.86 33.54% \$3,132.17 NA PCL 6:OCR software: 5,000 to 25,000 pages/month 24T7406 70 \$4,712.86 33.54% \$3,132.17 NA Equipment Monthly Lease Payment 36 Mo 60 Mo 589.64 589.64 589.64							
Manufacturer, Model, Features, DescriptionPart NumberNo. of Avg. Pages Per Minute (PPM)MSRPDIR Customer Discount % From MSRPCustomer Purchase Price EACH/Unit (MSRP- Discount)Monthly R SupplieMX711dthe: Print.copy.scan.fax: Duplex stdrup to 70 ppm; 800 MHz Dual-core:1GB RAM: USB,Gigabit Ethernet: PostScript 3 & PCL 6:OCR software; 5,000 to 25,000 pages/month recommended:1-Yr OS warranty:quiet & eco modes:ships w/ 25,000-page cartridge24T740670\$4,712.8633.54%\$3,132.17NAEquipment Monthly Lease Payment36 Mo60 MoAnnual Maintenance Including all Supplies for Purchase &Monthly BaseCopy AllowanceCost per Copy for Monthly	Volume Band M4	69-89 Pages Per Min	ute (PPM)				
Manufacturer, Model, Features, DescriptionPart NumberNo. of Avg. Pages Per Minute (PPM)MSRPDIR Customer Discount % from MSRPPurchase Price EACH/Unit (MSRP, Discount)Monthly K (ncludes N Supplie)MX711dthe: Print,copy,scan,fax; Duplex std;up to 70 ppm; 800 MHz Dual-core; 1GB RAM; USB,Gigabit Ethernet; PostScript 3 & PCL 6:OCR software; 5,000 to 25,000 pages/month recommended:1-Yr OS warranty:quiet & eco modes; ships w/ 25,000-page cartridge24T740670\$4,712.8633.54%\$3,132.17NAEquipment Monthly Lease Payment36 Mo60 MoAnnual Maintenance Including all Sumplies for Purchase & Monthly RaseCopy AllowanceCost per Copy for Monthly	Base Monthly VOLUME	Avg. 50,000					
MHz Dual-core; 1GB RAM; USB, Gigabit Ethernet; PostScript 3 & PCL 6; OCR software; 5,000 to 25,000 pages/month recommended; 1-Yr OS warranty; quiet & eco modes; ships w/ 25,000-page cartridge24T740670\$4,712.8633.54%\$3,132.17NAEquipment Monthly Lease Payment36 Mo60 MoImage: Supplies for Purchase & Monthly BaseMonthly BaseCopy AllowanceCost per Copy for Monthly	Manufacturer, Model, Features, Description	Part Number		MSRP		Purchase Price EACH/Unit (MSRP-	Monthly Rental (Includes Maint & Supplies)
Annual Maintenance Including all Supplies for Purchase & Monthly Base Copy Allowance Cost per Copy for Monthly	MHz Dual-core;1GB RAM; USB,Gigabit Ethernet; PostScript 3 & PCL 6;OCR software; 5,000 to 25,000 pages/month recommended;1-Yr OS warranty;quiet & eco modes;ships w/ 25,000-page cartridge	24T7406		\$4,712.86		\$3,132.17	NA
Annual Maintenance Including all Supplies for Purchase & Monthly Base Copy Allowance Cost per Copy for Monthly	Equipment Monthly Lease Payment						
Leased Device Maintenance Main	Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies		Cost per Copy for Monthly		
Year 1 \$ 91.50 \$0.0183 \$0.0183	Year 1	\$ 91.50	5,000	\$0.0183	\$0.0183		
Year 2 \$ 91.50 5,000 \$0.0183 \$0.0183							
Year 3 \$ <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							

Mul	tifunction	(MFD) De	evice Pi	ricing		
Year 5	\$ 91.50	5,000	\$0.0183	\$0.0183		
Volume Band M4	69-89 Pages Per Min	ute (PPM)				
Base Monthly VOLUME	Avg. 50,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
MFP Printer,MX812dxpe;Print,copy,scan,fax;Duplex std;up to 70 ppm;800 MHz Dual-core;1GB RAM;160+GB hard disk;USB,Gigabit Ethernet;PS 3 & PCL 6;OCR software;5,000 to 35,000 pages/month recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 25,000-page cartridge	24T7441	70	\$ 7,290.00	33.54%	\$ 4,844.93	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 216.00		\$ 138.66		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1		5,000	\$0.0176			
Year 2		5,000	\$0.0176			
Year 3 Year 4		5,000	\$0.0176 \$0.0176			
Year 5		5,000	\$0.0176			
Volume Band C1	1 - 30 Pages Per Min	ute (PPM)				
Base Monthly VOLUME Manufacturer, Model, Features, Description	Avg. 20,000 Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
CX310dn; Network ready; Print,copy,scan;25 ppm ;800 MHz Dual- core; 256MB RAM; USB,Gigabit Ethernet; PostScript 3 & PCL 6; OCR software;600 to 5,000 pages/month recmndd;1-Yr OS wrnty;Quiet & eco modes;Ships w/ 750-page color & black starter cartridge	28C0550	25	\$770.00	33.54%	\$511.74	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$22.82		\$14.65		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 24.55	500	.0415 Mono .1915 Color	.0415 Mono .1915 Color		
Year 2	\$ 24.55	500	.0415 Mono .1915 Color	.0415 Mono .1915 Color		
Year 3	\$ 24.55	500	0415 Mono	.0415 Mono .1915 Color		
Year 4	\$ 24.55	500	0415 Mono	.0415 Mono .1915 Color		
Year 5	\$ 24.55	500	.0415 Mono .1915 Color	.0415 Mono .1915 Color		

Mul	tifunctior	(MFD) De	evice Pi	ricing		
Volume Band C1	1 - 30 Pages Per Min	ute (PPM)				
Base Monthly VOLUME	Avg. 20,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
Color MFP, X925de; Up to 30 ppm black/color; 900MHz Processor; 512MB RAM; 1200 Image Quality printing; USB and Gigabit Ethernet; PostScript 3, PCL 6, XPS & PPDS Migration Tool; 1-yr onsite warranty; Ships w/ 8,500-page black & 7,500-page color cartridges	24Z0653	30 & 30	\$ 4,775.71	33.54%	\$ 3,173.94	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	\$ 141.50 Copy Allowance (Number of Copies Included)	Overage Rate	\$ 90.83 Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 248.00	5,000	.0496 mono .1358 color	.0496 mono .1358 color		
Year 2	\$ 248.00	5,000	0/196 mono	.0496 mono .1358 color		
Year 3	\$ 248.00	5,000	0/196 mono	.0496 mono .1358 color		
Year 4	\$ 248.00	5,000	0/06 mono	.0496 mono .1358 color		
Year 5	\$ 248.00	5,000	0/196 mono	.0496 mono .1358 color		
Volume Band C2	31 - 50 Pages Per Mi					
	31 - 30 Fayes Fel IVI	nute (PPM)				
		nute (PPM)				
Base Monthly VOLUME Manufacturer, Model, Features, Description	Avg. 75,000 Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
Base Monthly VOLUME	Avg. 75,000	No. of Avg. Pages Per	MSRP \$ 1,284.29		Purchase Price EACH/Unit (MSRP-	(Includes Maint &
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400-	Avg. 75,000 Part Number	No. of Avg. Pages Per Minute (PPM) 32 &32	W3KP	from MSRP 33.54% 60 Mo	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400- page color & black cartridges	Avg. 75,000 Part Number	No. of Avg. Pages Per Minute (PPM) 32 &32 32 &32	W3KP	from MSRP 33.54%	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400- page color & black cartridges	Avg. 75,000 Part Number	No. of Avg. Pages Per Minute (PPM) 32 &32	W3KP	from MSRP 33.54% 60 Mo	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400- page color & black cartridges Equipment Monthly Lease Payment Annual Maintenance Including all Supplies for Purchase &	Avg. 75,000 Part Number 28D0600 Monthly Base Maintenance \$	No. of Avg. Pages Per Minute (PPM) 32 &32 32 &32	WSKP \$ 1,284.29 Overage Rate 0475 mono	from MSRP 33.54% 33.54% 60 Mo \$ 24.43 Cost per Copy for Monthly	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400- page color & black cartridges Equipment Monthly Lease Payment Annual Maintenance Including all Supplies for Purchase & Leased Device	Avg. 75,000 Part Number 28D0600 28D0600 Monthly Base Maintenance \$ 38.00	No. of Avg. Pages Per Minute (PPM) 32 &32 32 &32 33 & 32 33 & 32 32 &32	\$ 1,284.29 Overage Rate .0475 mono .1584 color 0475 mono	from MSRP 33.54% 60 Mo \$ 24.43 Cost per Copy for Monthly Base Maintenance	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400- page color & black cartridges Equipment Monthly Lease Payment Annual Maintenance Including all Supplies for Purchase & Leased Device Year 1	Avg. 75,000 Part Number 28D0600 28D0600 Monthly Base Maintenance \$ 38.00 \$ 38.00	No. of Avg. Pages Per Minute (PPM) 32 &32 32 &32 33 & 00 \$ 38.05 Copy Allowance (Number of Copies Included) 800 800	\$ 1,284.29 \$ 1,284.29 Overage Rate 0475 mono 1584 color 0475 mono 1584 color 0475 mono 1584 color	from MSRP 33.54% 60 Mo \$ 24.43 Cost per Copy for Monthly Base Maintenance	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)
Base Monthly VOLUME Manufacturer, Model, Features, Description MFP Printer, CX410dte;Print,copy,scan,fax;Duplex print;32 ppm;800 MHz Dual-core;512MB RAM;USB,Gigabit Ethernet;PostScript 3 & PCL 6;OCR software;800 to 6,000 pp/mo, recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 1,400- page color & black cartridges Equipment Monthly Lease Payment Year 1 Year 1	Avg. 75,000 Part Number 28D0600 28D0600 Monthly Base Maintenance \$ 38.00 \$ 38.00 \$ 38.00 \$ 38.00	No. of Avg. Pages Per Minute (PPM) 32 &32 32 &32 33 & 00 \$ 38.05 Copy Allowance (Number of Copies Included) 800 800	\$ 1,284.29 \$ 1,284.29 Overage Rate .0475 mono .1584 color .0475 mono .1584 color .0475 mono .1584 color .0475 mono	from MSRP 33.54% 33.54% 60 Mo \$ 24.43 Cost per Copy for Monthly Base Maintenance .0475 mono .1584 color	Purchase Price EACH/Unit (MSRP- Discount)	(Includes Maint & Supplies)

Mul	tifunction	(MFD) De	evice P	ricing		
Volume Band C2	31 - 50 Pages Per Mi					
Base Monthly VOLUME	Avg. 75,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
CX510dthe; Print,copy,scan,fax; Duplex;32 ppm; 800 MHz Dual- core; 1GBB RAM;USB,Gigabit Ethernet; PostScript 3 & PCL 6;OCR software; 1,500 to 7,000 pages/month recommended;1-Yr OS wrnty;quiet & eco modes;ships w/ 4,000-page color & 8,000- page black cartridge	28E0550	32	\$2,248.57	33.54%	\$1,494.40	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo	-	
		\$66.63		\$42.77		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate (4 decimals)	CPC for Monthly Base Maintenance (4 decimals)		
Year 1	\$ 60.90	1,500	.0406 Mono .1382 Color	.0406 Mono .1382 Color		
Year 2	\$ 60.90	1,500	.0406 Mono .1382 Color	.0406 Mono .1382 Color		
Year 3	\$ 60.90	1,500	.0406 Mono .1382 Color	.0406 Mono .1382 Color		
Year 4	\$ 60.90	1,500	.0406 Mono .1382 Color	.0406 Mono .1382 Color		
Year 5	\$ 60.90	1,500	.0406 Mono .1382 Color	.0406 Mono .1382 Color		

Mu	tifunction	(MFD) De	evice P	ricing		
Volume Band C2	31 - 50 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 75,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
Printer,X746de;Print,copy,scan&fax35 ppm black/color;Legal-size, flatbed duplex scanner;1.2GHz Proc;USB,Gigabit Ethernet,duplex;PostScript 3,PCL 6,XPS,PPDS,HTML,Direct image;512MB memory std;1-yr Onsite Service warranty;Ships w/ 6,000-page starter cartridge	34T5011	35 & 35	\$ 2,764.29	33.54%	\$ 1,837.14	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	\$ 81.91 Copy Allowance (Number of Copies Included)	Overage Rate	\$ 52.58 Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 63.80	2,000	.1250 color	.0319 mono .1250 color		
Year 2	\$ 63.80	2,000	.0319 mono .1250 color	.0319 mono .1250 color		
Year 3	\$ 63.80	2,000	.0319 mono .1250 color	.0319 mono .1250 color		
Year 4	\$ 63.80	2,000	.0319 mono .1250 color	.0319 mono .1250 color		
Year 5	\$ 63.80	2,000	.0319 mono .1250 color	.0319 mono .1250 color		
Volume Band C2	31 - 50 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 75,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
Printer,X748dte;Print,copy,scan&fax35 ppm black/color;Legal- size,flatbed duplex scanner;1.2GHz Proc;USB;duplex;PostScript 3,PCL 6,XPS,HTML,Direct image;512MB memory;160+GB HD;1-yr Onsite Service warranty;Ships w/ 10,000-page color & 12,000-page black cartridge		35 & 35	\$ 3,518.57	33.54%	\$ 2,338.44	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
Annual Maintenance Including all Counties for Device of	Manthly Dee	\$ 104.26 Copy Allowance		\$ 66.92		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	(Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 95.70	3,000	0.0319 mono .1114 color	0.0319 mono .1114 color		
Year 2	\$ 95.70	3,000	.1114 Color	0.0319 mono .1114 color		
Year 3	\$ 95.70	3,000	. 1 1 1 4 COIOF	0.0319 mono .1114 color		
Year 4	\$ 95.70	3,000	.1114 Color	0.0319 mono .1114 color		
Year 5	\$ 95.70	3,000	0.0319 mono .1114 color	0.0319 mono .1114 color		

Mu	tifunctior	(MFD) De	evice P	ricing	F	
Volume Band C2	31 - 50 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 75,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
X792dtme MFP;Print,copy,scan&faxDuplex prntg std;Up to 50 ppm black or color;1.2GHz Processor;1GB RAM;1200x1200 dpi;USB and Gigabit Ethernet;PS3 & PCL 6 emulations,XPS & PPDS Migration Tool;1-yr onsite wrnty;Ships w/ 12,000-page black & color cartridges	47B1121	50 & 50	\$ 6,975.71	33.54%	\$ 4,636.06	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 206.69		\$ 132.68		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 67.00		0.0876 color	.0268 mono 0.0876 color		
Year 2	\$ 67.00		.0268 mono 0.0876 color	.0268 mono 0.0876 color		
Year 3	\$ 67.00		.0268 mono 0.0876 color	.0268 mono 0.0876 color		
Year 4	\$ 67.00	2,500	.0268 mono 0.0876 color	.0268 mono 0.0876 color		
Year 5	\$ 67.00	2,500	.0268 mono 0.0876 color	.0268 mono 0.0876 color		
Volume Band C2	31 - 50 Pages Per Mi	nute (PPM)				
Base Monthly VOLUME	Avg. 75,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
Printer, X950de; Ntwrk rdy; duplex; 45ppm blk, 40ppm color; 1.2GHz Proc; 1GB RAM; PS3&PCL6&PPDS OCR software; 5K to 33K pages/mo. recmnd mo., 200K duty cycle/mo.; 1-Yr Onsite Serv, Next Bus. Day resp time; ships w/ 19K-pg blk & 12K-pg color starter cartridge	22Z0019	45 & 40	\$ 12,855.71	33.54%	\$ 8,543.91	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$ 380.91		\$ 244.52		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 139.00	5,000	.1108 COIOF	.0278 mono .1108 color		
Year 2	\$ 139.00	5,000	. 1 108 COIOI	.0278 mono .1108 color		
Year 3	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		
Year 4	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		

Mul	tifunction	•		ricing		
Year 5	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		
Volume Band C3	51+ Pages Per Minu	te (PPM)				
Base Monthly VOLUME	Avg. 100,000					
Manufacturer, Model, Features, Description	Part Number	No. of Avg. Pages Per Minute (PPM)	MSRP	DIR Customer Discount % from MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Rental (Includes Maint & Supplies)
X954dhe; Ntwrk rdy; duplex; 55ppm black, 50 ppm color; 1.2GHz Proc; 2GB RAM; PS3&PCL6&PPDS OCR software; 5Kto33K pp/mo. recmnd mo.; 250K duty cycle/mo.; 1-Yr Onsite Servc, Next Bus. Day resp time; ships w/ 19K-pg blk & 12K-pg clr starter cartridge	22Z0021	55	\$19,927.14	33.54%	\$13,243.58	NA
Equipment Monthly Lease Payment		36 Mo		60 Mo		
		\$590.44		\$379.01		
Annual Maintenance Including all Supplies for Purchase & Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance		
Year 1	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		
Year 2	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		
Year 3	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		
Year 4	\$ 139.00	5,000	LIUX COIOF	.0278 mono .1108 color		
Year 5	\$ 139.00	5,000	.0278 mono .1108 color	.0278 mono .1108 color		

Multifunction	(IVIFD) D	evi	ce Pi	ricing		
Multifunction Device sold PER UNIT - Warranty only. Maintenance sold seperately	Part Number		MSRP	DIR Customer Discount % From MSRP	Customer Purchase Price EACH/Unit (MSRP- Discount)	Monthly Lease Price
exmark X748de Color MFP	34T5012	\$	3,141.43	33.54%	\$ 2,087.79	NA
exmark X792de Color MFP	47B1000	\$	5,404.29	33.54%		NA
exmark X792dte Color MFP -	47B1001	\$	6,158.57	33.54%	\$ 4,092.99	NA
exmark X792dtfe Color MFP	47B1002	\$	6,975.71	33.54%	\$ 4,636.06	NA
exmark X792dtpe Color MFP	47B1120	\$	7,415.71	33.54%	\$ 4,928.48	NA
exmark X792dtse Color MFP	47B1122	\$	6,787.14	33.54%		NA
exmark X952dte Color MFP	22Z0020	\$	16,070.00	33.54%		NA
exmark CX310n Color MFP	28C0500	\$	641.43	33.54%		NA
exmark CX410e Color MFP exmark CX410de Color MFP	28D0500 28D0550	\$ \$	898.57 1,027.14	<u>33.54%</u> 33.54%		NA NA
exmark CX410de Color MFP	28D0550 28E0500	\$ \$	1,798.57	33.54%		NA NA
exmark CX510dhe -Color MFP	28E0615	\$	1,991.43	33.54%	1	NA
exmark MX511de - MonoMFP	35\$5703	\$	1,255.71	33.54%	1	NA
exmark MX511dte - Mono MFP	35S5941	\$	1,507.14	33.54%	\$ 1,001.65	NA
exmark MX611de - Mono MFP	35S6701	\$	1,884.29	33.54%	+ .1======	NA
exmark MX611dte - Mono MFP	35\$6800	\$	2,135.71	33.54%		NA
exmark MX611dhe - Mono MFP	35S6702	\$	2,261.43	33.54%		NA
exmark MX710de - Mono MFP exmark MX711de - Mono MFP	24T7401 24T7404	\$ \$	2,890.00 4,021.43	<u> </u>		NA NA
exmark MX711de - Mono MFP	24T7320	\$ \$	4,021.43	33.54%		NA NA
exmark MX810de - Mono MFP	24T7407	\$	4,398.57	33.54%		NA
exmark MX810dfe - Mono MFP	24T7408	\$	4,775.71	33.54%		NA
exmark MX810dme - Mono MFP	24T7410	\$	4,775.71	33.54%	\$ 3,173.94	NA
exmark MX810dte - Mono MFP	24T7411	\$	4,712.86	33.54%		NA
exmark MX810dtfe - Mono MFP	24T7412	\$	5,090.00	33.54%		NA
exmark MX810dtmeMono MFP exmark MX810dxe - Mono MFP	24T7414	\$	5,090.00	33.54%		NA
exmark MX810dxe - Mono MFP	24T7415 24T7416	\$ \$	5,027.14 5,404.29	33.54% 33.54%	1 -1	NA NA
exmark MX810dxme - Mono MFP	24T7418	۰ ۶	5,404.29	33.54%		NA NA
exmark MX811de - Mono MFP	24T7419	\$	5,152.86	33.54%		NA
exmark MX811dfe - Mono MFP	24T7420	\$	5,530.00	33.54%		NA
exmark MX811dme - Mono MFP	24T7422	\$	5,530.00	33.54%		NA
exmark MX811dte - Monoi MFP	24T7423	\$	5,467.14	33.54%	+	NA
exmark MX811dtfe - Mono MFP	24T7424	\$	5,844.29	33.54%	+ • • • • • • • • • • • • • • • • • • •	NA
exmark MX811dtme - Mono MFP exmark MX811dxe - Mono MFP	24T7426 24T7427	\$ \$	5,844.29 5,781.43	33.54% 33.54%		NA NA
exmark MX811dxfe - Mono MFP	24T7427	۵ \$	6,158.57	33.54%		NA
exmark MX811dxme - Mono MFP	24T7430	\$	6,158.57	33.54%		NA NA
exmark MX812de - Mono MFP	24T7430	\$	5,907.14	33.54%		NA
exmark MX812dfe Mono MFP	24T7432	\$	6,284.29	33.54%	+	NA
exmark MX812dme -Mono MFP	24T7434	\$	6,284.29	33.54%		NA
exmark MX812dte -Mono MFP	24T7435	\$	6,221.43	33.54%	\$ 4,134.76	NA
exmark MX812dtfe MonoMFP	24T7436	\$	6,598.57	33.54%		NA
exmark MX812dtme - Mono MFP	24T7438	\$	6,598.57	33.54%	\$ 4,385.41	NA
exmark MX812dxe - Mono MFP	24T7439	\$	6,535.71	33.54%		NA
exmark MX812dxfe - Mono MFP	24T7440	\$	6,912.86	33.54%		NA
exmark MX812dxme - Mono MFP	24T7442	\$	6,912.86	33.54%	\$ 4,594.29	NA
exmark MX810dpe - Mono MFP	24T7409	\$	5,152.86	33.54%	\$ 3,424.59	NA
exmark MX810dtpe - Mono MFP	24T7413	\$	5,467.14	33.54%	\$ 3,633.46	NA
exmark MX811dpe - Mono MFP	24T7421	\$	5,907.14	33.54%	\$ 3,925.89	NA
exmark MX811dtpe - Mono MFP	24T7425	\$	6,221.43	33.54%	\$ 4,134.76	NA
exmark MX811dxpe - Mono MFP	24T7429	\$	6,535.71	33.54%		NA
exmark MX812dpe - MonoMFP	24T7433	\$	6,661.43	33.54%		NA
exmark MX812dtpe - Mono MFP	24T7437	\$	6,975.71	33.54%		NA
exmark MX910de Mono MFP	26Z0100	\$	9,598.57	33.54%		NA
exmark CX725de - color laser MFP - 50ppm	40C9500	\$	3,248.57	33.54%	· ·	
exmark CX725dbe - color laser MFP - 50ppm	40C9501	\$	3,638.57	33.54%		
exmark CX725dthe - color laser MFP - 50ppm	40C9502	\$	4,028.57	33.54%	-	
	4007302	\$	4,398.57	33.54%		
exmark CX820de - color laser MFP - 52ppm	42K0010 42K0012	\$	6,032.86			
exmark CX820dtfe - color laser MFP - 52ppm	42K0012 42K0040	⊅ \$	5,027.14	33.54%		
exmark CX825de - color laser MFP - 55ppm				33.54%		
exmark CX825dte - color laser MFP - 55ppm	42K0041 42K0042	\$ \$	5,907.14 6,347.14	33.54% 33.54%		
exmark CX825dtfe - color laser MFP - 55ppm	/1 / K 1/1 /		0 5/17 1/1		. // // // //	

Texas Department of Information Resources DIR-TSO-3103 - Appendix C, Pricing Index Category: NON MULTIFUNCTION DEVICES Amendment 3

Multifunction	(MFD) D	evi	ice Pi	ricing		
Lexmark CX860dte - color laser MFP - 60ppm	42K0071	\$	11,061.43	33.54%	\$ 7,351.43	
Lexmark CX860dtfe - color laser MFP - 60ppm	42K0072	\$	11,438.57	33.54%	\$ 7,602.07	

IOTE: FINAL DIR PRIC	ING INCLUDES DIR	ADMINISTRATIV	/E FEE. THE FEE HAS BEEN	ADDED AFTER THE DISCOUN	IS APPLIED TO	MSRP.	
nts, warranties or service I survive expiration or te	e agreements that w rmination of the Cor	ere entered into b itract. Rights and	etween Vendor and a Custome obligations under this Contrac	er under the terms and conditions t which by their nature should su	s of the Contract s rvive, including, b	shall survive the expiration or tern	nination of the Contract. All
Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)		MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
35S0100	\$ 320.00	33.54%		\$ 9.48		\$ 6.09	NA
Monthly Base Maintenance \$	(Number of	Overage Rate	Cost per Copy for Monthly Base Maintenance				
5 \$ 20.25	500	\$0.0403	\$0.0403				
Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)		MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
35S0200	\$ 512.86	33.54%		\$ 15.20		\$ 9.75	NA
Monthly Base Maintenance \$	(Number of	Overage Rate	Cost per Copy for Monthly Base Maintenance				
		DIR Customer Discount %		MONTHLY PAYMENT 36 Month Lease (per unit)		MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
		from MSRP					
35\$0300	\$ 770.00	from MSRP 33.54%		\$ 22.82		\$ 14.65	NA
35S0300 Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	33.54% Overage Rate	Cost per Copy for Monthly Base Maintenance			\$ 14.65	NA
35S0300 Monthly Base Maintenance \$ 1 \$ 42.75	Copy Allowance (Number of Copies Included) 1,500	33.54% Overage Rate \$0.0285	Cost per Copy for Monthly Base Maintenance \$0.0285			\$ 14.65	NA
35S0300 Monthly Base Maintenance \$ 1 \$ 42.75 2 \$ 42.75	Copy Allowance (Number of Copies Included) 1,500 1,500	33.54% Overage Rate \$0.0285 \$0.0285	Cost per Copy for Monthly Base Maintenance \$0.0285 \$0.0285			\$ 14.65	NA
35S0300 Monthly Base Maintenance \$ 1 \$ 42.75	Copy Allowance (Number of Copies Included) 1,500 1,500	33.54% Overage Rate \$0.0285	Cost per Copy for Monthly Base Maintenance \$0.0285 \$0.0285 \$0.0285			\$ 14.65	NA
	vives the contract term nts, warranties or service II survive expiration or te termination or expiration Part Number 35S0100 Monthly Base Maintenance \$ 3 \$ 20.25 3 \$ 20.25 3 \$ 20.25 5 \$ 20.25 \$	vives the contract term expiration. Custom nts, warranties or service agreements that will survive expiration or termination of the Cor- termination or expiration hereof; obligations of 3550100Part NumberMSRP3550100\$ 320.00Monthly Base Maintenance \$Copy Allowance (Number of Copies Included)1\$ 20.255002\$ 20.255003\$ 20.255004\$ 20.255005\$ 20.255005\$ 20.255006\$ 20.255007\$ 20.255007\$ 20.255009\$ 20.25\$ 5009\$ 350200\$ 512.869\$ 24.837509\$ 24.837509\$ 24.83750 <t< td=""><td>Airest the contract term expiration. Customer election of a 6d ints, warranties or service agreements that were entered into be a univere expiration or termination of the Contract. Rights and termination or expiration bereof; obligations of confidentiality; and the service agreements that were entered into be additional agreement in the contract. Rights and termination or expiration bereof; obligations of confidentiality; and the service agreements that were entered into be additional agreement is a service agreements that were entered into be additional agreement in the contract. Rights and termination or expiration or termination of the Contract. Rights and the service agreements that were entered into be additional agreement is a service agreement in the service agreements that were entered into be additional agreement is a service agreements that were entered into be additional agreement is a service agreement is service agreements in the contract. Rights and the service agreement is service agreement is service agreements in the service agreements included is service agreement is service agreements included is service agreement is service agreements included is service agreements included is service agreement is service agreement is service agreements included is service agreements included is service agreement is service agreeme</td><td>vives the contract term expiration. Customer election of a 60-Month Lease Term invokes A Its warranties or service agreements that were entered into between Vendor and a Custom Its wrive expiration or termination of the Contract. Rights and obligations under this Contract termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provide the termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination of expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination of the Contract. Rights and obligations under this Contract termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain termination of the Contract. Rights and obligations under this Contract termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain termination or expiration termination or expiration termination of the Contract. Rights and obligations under this Contract termination of the Contract terminatic termination of the Contract termination of</td><td>All set contract term expiration. Customer election of a 60-Month Lease Term invokes Appendix A, Standard Terms and this, warranties or service agreements that were entered into between Vendor and a Customer under the terms and condition. It survice expiration or termination of the Contract. Rights and obligations under this Contract which by their nature should su termination or expiration or termination of expiration are expiration the contract. Rights and obligations under this Contract which by their nature should su termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain in effect after termination or expiration or expiration between Vendor and a Customer unit) MONTHLY PAYMENT 36 Part Number MSRP DIR Customer Discount % from MSRP MONTHLY PAYMENT 36 Monthly Base Copy Allowance (Number of Copies Included) Overage Rate Cost per Copy for Monthly Base Maintenance \$ 1 \$ 20.25 500 \$0.0405 \$0.0405 3 \$ 20.25 500 \$0.0405 \$0.0405 3 \$ 20.25 500 \$0.0405 \$0.0405 5 \$ 20.25 500 \$0.0405 \$0.0405 5 \$ 20.25 500 \$0.0405 \$0.0405 6 S \$0.2015 \$0.0405 \$0.0405 75 \$</td><td>Average the contract term expiration. Customer election of a 60-Month Lease Term invokes Appendix A. Standard Terms and Conditions for Prints. Warranties or service agreements that were entered into between Vendor and a Customer under the terms and conditions of the Contract SI survee expiration hereof: obligations of confidentiality: and, indemmification, will remain in effect after termination or expiration hereof: bligations of confidentiality: and, indemmification, will remain in effect after termination or expiration hereof: * Part Number MSRP DIR Customer biscount % from MSRP MONTHLY PAYMENT 36 Month Lease (per unit) 3550100 \$ 20,00 33.54% \$ 9.48 Monthly Base (Number of Copies Included) Overage Rate Cost per Copy for Monthly Base Maintenance (Number of Discount % from MSRP Cost per Copy for Monthly Base Maintenance (Number of S0.0405 \$ 0.0405 9 \$ 20.25 500 \$ 0.0405 \$ 0.0405 1 \$ 20.25 500 \$ 0.0405 \$ 0.0405 2 \$ 20.25 500 \$ 0.0405 \$ 0.0405 3 \$ 20.25 500 \$ 0.0405 \$ 0.0405 5 \$ 20.25 500 \$ 0.0405 \$ 0.0405 6 \$ 0.2025 \$ 0.0405 \$ 0.0405 7 \$ 20.25 \$ 0.0405 \$ 0.0405 8 \$ 0.225<!--</td--><td>Part Number MSRP DIR Customer Discount % from MSRP MONTHLY PAYMENT 36 Month Lease (per unit) MONTHLY PAYMENT 60 Month Lease (per unit) 3550100 \$ 320.00 33.54% \$ 9.48 \$ 0.405 3550100 \$ 320.00 33.54% \$ 9.48 \$ 0.609 Monthly Base Maintenance \$ Copy Allowance Outpies included) Overage Rate 00005 Cost per Copy for Monthly Base Maintenance 3 \$ 0.0405 \$ 0.0405 2 \$ 20.25 500 \$ 0.0405 \$ 0.0405 3 \$ 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 6 9 3550200 \$ 5.12.0 \$ 0.071HLY PAYMENT 60 Month Lease (per unit) 3550200 \$ 5.12.6 33.54% \$ 15.20 \$ 9.75 Monthly Base Maintenance \$ Copy Allowance Output Overage Rate Cost per Copy for Monthly Base Maintenance</br></br></td></td></t<>	Airest the contract term expiration. Customer election of a 6d ints, warranties or service agreements that were entered into be a univere expiration or termination of the Contract. Rights and termination or expiration bereof; obligations of confidentiality; and the service agreements that were entered into be additional agreement in the contract. Rights and termination or expiration bereof; obligations of confidentiality; and the service agreements that were entered into be additional agreement is a service agreements that were entered into be additional agreement in the contract. Rights and termination or expiration or termination of the Contract. Rights and the service agreements that were entered into be additional agreement is a service agreement in the service agreements that were entered into be additional agreement is a service agreements that were entered into be additional agreement is a service agreement is service agreements in the contract. Rights and the service agreement is service agreement is service agreements in the service agreements included is service agreement is service agreements included is service agreement is service agreements included is service agreements included is service agreement is service agreement is service agreements included is service agreements included is service agreement is service agreeme	vives the contract term expiration. Customer election of a 60-Month Lease Term invokes A Its warranties or service agreements that were entered into between Vendor and a Custom Its wrive expiration or termination of the Contract. Rights and obligations under this Contract termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provide the termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination of expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination of the Contract. Rights and obligations under this Contract termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain the provided termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain termination of the Contract. Rights and obligations under this Contract termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain termination or expiration termination or expiration termination of the Contract. Rights and obligations under this Contract termination of the Contract terminatic termination of the Contract termination of	All set contract term expiration. Customer election of a 60-Month Lease Term invokes Appendix A, Standard Terms and this, warranties or service agreements that were entered into between Vendor and a Customer under the terms and condition. It survice expiration or termination of the Contract. Rights and obligations under this Contract which by their nature should su termination or expiration or termination of expiration are expiration the contract. Rights and obligations under this Contract which by their nature should su termination or expiration hereof: obligations of confidentiality: and, indemnification, will remain in effect after termination or expiration or expiration between Vendor and a Customer unit) MONTHLY PAYMENT 36 Part Number MSRP DIR Customer Discount % from MSRP MONTHLY PAYMENT 36 Monthly Base Copy Allowance (Number of Copies Included) Overage Rate Cost per Copy for Monthly Base Maintenance \$ 1 \$ 20.25 500 \$0.0405 \$0.0405 3 \$ 20.25 500 \$0.0405 \$0.0405 3 \$ 20.25 500 \$0.0405 \$0.0405 5 \$ 20.25 500 \$0.0405 \$0.0405 5 \$ 20.25 500 \$0.0405 \$0.0405 6 S \$0.2015 \$0.0405 \$0.0405 75 \$	Average the contract term expiration. Customer election of a 60-Month Lease Term invokes Appendix A. Standard Terms and Conditions for Prints. Warranties or service agreements that were entered into between Vendor and a Customer under the terms and conditions of the Contract SI survee expiration hereof: obligations of confidentiality: and, indemmification, will remain in effect after termination or expiration hereof: bligations of confidentiality: and, indemmification, will remain in effect after termination or expiration hereof: * Part Number MSRP DIR Customer biscount % from MSRP MONTHLY PAYMENT 36 Month Lease (per unit) 3550100 \$ 20,00 33.54% \$ 9.48 Monthly Base (Number of Copies Included) Overage Rate Cost per Copy for Monthly Base Maintenance (Number of Discount % from MSRP Cost per Copy for Monthly Base Maintenance (Number of S0.0405 \$ 0.0405 9 \$ 20.25 500 \$ 0.0405 \$ 0.0405 1 \$ 20.25 500 \$ 0.0405 \$ 0.0405 2 \$ 20.25 500 \$ 0.0405 \$ 0.0405 3 \$ 20.25 500 \$ 0.0405 \$ 0.0405 5 \$ 20.25 500 \$ 0.0405 \$ 0.0405 6 \$ 0.2025 \$ 0.0405 \$ 0.0405 7 \$ 20.25 \$ 0.0405 \$ 0.0405 8 \$ 0.225 </td <td>Part Number MSRP DIR Customer Discount % from MSRP MONTHLY PAYMENT 36 Month Lease (per unit) MONTHLY PAYMENT 60 Month Lease (per unit) 3550100 \$ 320.00 33.54% \$ 9.48 \$ 0.405 3550100 \$ 320.00 33.54% \$ 9.48 \$ 0.609 Monthly Base Maintenance \$ Copy Allowance Outpies included) Overage Rate 00005 Cost per Copy for Monthly Base Maintenance 3 \$ 0.0405 \$ 0.0405 2 \$ 20.25 500 \$ 0.0405 \$ 0.0405 3 \$ 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 6 9 3550200 \$ 5.12.0 \$ 0.071HLY PAYMENT 60 Month Lease (per unit) 3550200 \$ 5.12.6 33.54% \$ 15.20 \$ 9.75 Monthly Base Maintenance \$ Copy Allowance Output Overage Rate Cost per Copy for Monthly Base Maintenance</br></br></td>	Part Number MSRP DIR Customer Discount % from MSRP MONTHLY PAYMENT 36 Month Lease (per unit) MONTHLY PAYMENT 60 Month Lease (per unit) 3550100 \$ 320.00 33.54% \$ 9.48 \$ 0.405 3550100 \$ 320.00 33.54% \$ 9.48 \$ 0.609 Monthly Base Maintenance \$ Copy Allowance Outpies included) Overage Rate 00005 Cost per Copy for Monthly Base Maintenance 3 \$ 0.0405 \$ 0.0405 2 \$ 20.25 500 \$ 0.0405 \$ 0.0405 3 \$ 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 5 2 0.25 500 \$ 0.0405 \$ 0.0405 6 9 3550200 \$ 5.12.0 \$ 0.071HLY PAYMENT 60 Month Lease (per unit) 3550200 \$ 5.12.6 33.54% \$ 15.20 \$ 9.75 Monthly Base Maintenance \$ Copy Allowance Output Overage Rate

Year 5	\$ 42.75	1,500	\$0.0285	\$0.0285	

Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS610dte Mono Laser Printer 50ppm	35S0550	\$ 1,412.00	33.54%		\$ 41.86	\$ 26.87	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 85.50	3,000	\$0.0285	\$0.0285			
Year 2	\$ 85.50	3,000	\$0.0285	\$0.0285			
Year 3		3,000	\$0.0285				
Year 4	\$ 85.50	3,000	\$0.0285	\$0.0285			
Year 5	\$ 85.50	3,000	\$0.0285	\$0.0285			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS710dn - Mono Laser printer 50ppm	40G0510	\$ 1,104.00	33.54%		\$ 32.72	\$ 21.00	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 118.50	5,000	\$0.0237	\$0.0237			
Year 2	\$ 118.50	5,000	\$0.0237	\$0.0237			
Year 3	\$ 118.50	5,000	\$0.0237	\$0.0237			
Year 4	\$ 118.50	5,000	\$0.0237	\$0.0237			
Year 5	\$ 118.50	5,000	\$0.0237	\$0.0237			
Manufacturer, Model, Features, Description							
ואמוזערמכנערפר, ואוטעפר, רפמנערפס, ספסכרוטנוטור	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS711dn -Mono Laser Printer 55ppm	Part Number 40G0610		Discount %				
		MSRP	Discount % from MSRP 33.00% Overage Rate	Cost per Copy for Monthly Base Maintenance	Month Lease (per unit)	Month Lease (per unit)	RENTAL (per unit)
Lexmark MS711dn -Mono Laser Printer 55ppm	40G0610 Monthly Base Maintenance \$	MSRP 1,558.00 Copy Allowance (Number of	Discount % from MSRP 33.00% Overage Rate	Cost per Copy for Monthly Base Maintenance	Month Lease (per unit)	Month Lease (per unit)	RENTAL (per unit)
Lexmark MS711dn -Mono Laser Printer 55ppm Annual Maintenance Including all Supplies for Leased Device	40G0610 Monthly Base Maintenance \$ \$ 92.50	MSRP 1,558.00 Copy Allowance (Number of Copies Included)	Discount % from MSRP 33.00% Overage Rate	Cost per Copy for Monthly Base Maintenance \$0.0185	Month Lease (per unit)	Month Lease (per unit)	RENTAL (per unit)
Lexmark MS711dn -Mono Laser Printer 55ppm Annual Maintenance Including all Supplies for Leased Device Year 1	40G0610 Monthly Base Maintenance \$ \$ 92.50 \$ 92.50	MSRP 1,558.00 Copy Allowance (Number of Copies Included) 5,000	Discount % from MSRP 33.00% Overage Rate \$0.0185	Cost per Copy for Monthly Base Maintenance \$0.0185 \$0.0185	Month Lease (per unit)	Month Lease (per unit)	RENTAL (per unit)
Lexmark MS711dn -Mono Laser Printer 55ppm Annual Maintenance Including all Supplies for Leased Device Year 1 Year 2	40G0610 Monthly Base Maintenance \$ \$ 92.50 \$ 92.50 \$ 92.50 \$ 92.50	MSRP 1,558.00 Copy Allowance (Number of Copies Included) 5,000 5,000	Discount % from MSRP 33.00% Overage Rate \$0.0185 \$0.0185	Cost per Copy for Monthly Base Maintenance \$0.0185 \$0.0185 \$0.0185 \$0.0185	Month Lease (per unit)	Month Lease (per unit)	RENTAL (per unit)

Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount %		MONTHLY PAYMENT 36	MONTHLY PAYMENT 60	MONTHLY PAYMENT
	i dit number	Mora	from MSRP		Month Lease (per unit)	Month Lease (per unit)	RENTAL (per unit)
Lexmark MS810dtn Mono Laser Printer 55ppm	40G0410	\$ 1,494.00	33.54%		\$ 44.28	\$ 28.42	NA
	Monthly Base	Copy Allowance		Cost per Copy for Monthly			
Annual Maintenance Including all Supplies for Leased Device	Maintenance \$	(Number of Copies Included)	Overage Rate	Base Maintenance			
Year 1	\$ 63.90	3,000	\$0.0213	\$0.0213			
Year 2		3,000	\$0.0213	\$0.0213			
Year 3		3,000	\$0.0213	\$0.0213			
Year 4	\$ 63.90	3,000	\$0.0213	\$0.0213			
Year 5	\$ 63.90	3,000	\$0.0213	\$0.0213			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS811dtn Mono Laser Printer 63ppm	40G0440	\$ 1,884.00	33.54%		\$ 55.83	\$ 35.84	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 79.00	5,000	\$0.0158	\$0.0158			
Year 2	\$ 79.00	5,000	\$0.0158	\$0.0158			
Year 3	\$ 79.00	5,000	\$0.0158	\$0.0158			
Year 4		5,000	\$0.0158	\$0.0158			
Year 5	\$ 79.00	5,000	\$0.0158	\$0.0158			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS812dn Mono Laser Printer 70ppm	40G0310	\$ 2,274.00	33.54%		\$ 67.39	\$ 43.26	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 79.00	5,000	\$0.0158	\$0.0158			
Year 2	\$ 79.00	5,000	\$0.0158	\$0.0158			
Year 3		5,000	\$0.0158	\$0.0158			
Year 4		5,000	\$0.0158	\$0.0158			
VoorE	\$ 79.00	F 000					
Year 5	¢ 79.00	5,000	\$0.0158	\$0.0158			
Manufacturer, Model, Features, Description	Part Number		\$0.0158 DIR Customer Discount % from MSRP	\$0.0158	MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
			DIR Customer Discount %	\$0.0158			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP	\$0.0158 \$0.0158 Cost per Copy for Monthly Base Maintenance	Month Lease (per unit) \$ 7.58	Month Lease (per unit)	RENTAL (per unit)
Manufacturer, Model, Features, Description Lexmark MS312dn Mono Laser Printer 35ppm Annual Maintenance Including all Supplies for Leased Device Year 1	Part Number 35S0060 Monthly Base Maintenance \$ \$ 20.25	MSRP \$ 255.00 Copy Allowance (Number of Copies Included) 500	DIR Customer Discount % from MSRP 33.54% Overage Rate \$0.0405	Cost per Copy for Monthly Base Maintenance \$ 0.0405	Month Lease (per unit) \$ 7.58	Month Lease (per unit)	RENTAL (per unit)
Manufacturer, Model, Features, Description Lexmark MS312dn Mono Laser Printer 35ppm Annual Maintenance Including all Supplies for Leased Device Year 1 Year 2	Part Number 35S0060 Monthly Base Maintenance \$ \$ 20.25 \$ 20.25	MSRP \$ 255.00 Copy Allowance (Number of Copies Included) 500 500	DIR Customer Discount % from MSRP 33.54% Overage Rate \$0.0405 \$0.0405	Cost per Copy for Monthly Base Maintenance \$ 0.0405 \$ 0.0405	Month Lease (per unit) \$ 7.58	Month Lease (per unit)	RENTAL (per unit)
Manufacturer, Model, Features, Description Lexmark MS312dn Mono Laser Printer 35ppm Annual Maintenance Including all Supplies for Leased Device Year 1 Year 2 Year 3	Part Number 35S0060 Monthly Base Maintenance \$ \$ 20.25 \$ 20.25 \$ 20.25	MSRP \$ 255.00 Copy Allowance (Number of Copies Included) 500 500 500	DIR Customer Discount % from MSRP 33.54% Overage Rate \$0.0405 \$0.0405 \$0.0405	Cost per Copy for Monthly Base Maintenance \$ 0.0405 \$ 0.0405 \$ 0.0405	Month Lease (per unit) \$ 7.58	Month Lease (per unit)	RENTAL (per unit)
Manufacturer, Model, Features, Description Lexmark MS312dn Mono Laser Printer 35ppm Annual Maintenance Including all Supplies for Leased Device Year 1 Year 2	Part Number 35S0060 Monthly Base Maintenance \$ \$ 20.25 \$ 20.25 \$ 20.25 \$ 20.25 \$ 20.25	MSRP \$ 255.00 Copy Allowance (Number of Copies Included) 500 500	DIR Customer Discount % from MSRP 33.54% Overage Rate \$0.0405 \$0.0405	Cost per Copy for Monthly Base Maintenance \$ 0.0405 \$ \$ 0.0405 \$ \$ 0.0405 \$ \$ 0.0405 \$ \$ 0.0405 \$ \$ 0.0405 \$ \$ 0.0405 \$ \$ 0.0405 \$	Month Lease (per unit) \$ 7.58	Month Lease (per unit)	RENTAL (per unit)

Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS 315dn Mono Laser Printer 37ppm	35S0160	\$ 384.00	33.54%		\$ 11.39	\$ 7.31	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 20.25	500	\$0.0405	\$0.0405			
Year 2	\$ 20.25	500	\$0.0405	\$0.0405			
Year 3		500	\$0.0405	\$0.0405			
Year 4	\$ 20.25	500	\$0.0405	\$0.0405			
Year 5	\$ 20.25	500	\$0.0405	\$0.0405			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS415dn Mono Laser Printer 40ppm	35S0260	\$ 512.86	33.54%		\$ 15.20	\$ 9.75	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 24.83	750	\$0.0331	\$0.0331			
Year 2	\$ 24.83	750	\$0.0331	\$0.0331			
Year 3		750	\$0.0331	\$0.0331			
		750	\$0.0331	\$0.0331			
Year 5	\$ 24.83	750	\$0.0331	\$0.0331			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark MS911de Mono Laser Printer 55ppm	26Z0000	\$ 4,321.00	33.54%		\$ 128.04	\$ 82.19	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1		15,000	\$0.0190	\$0.0190			
Year 2		15,000	\$0.0190	\$0.0190			
Year 3		15,000	\$0.0190	\$0.0190			
		15,000	\$0.0190	\$0.0190			
Year 5	\$ 285.00	15,000	\$0.0190	\$0.0190			

Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark C746dtn Color Laser Printer	41G0100	\$ 1,318.00	33.54%		\$ 39.07	\$ 25.08	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 43.50	1,500	.0290 mono .1400 color	.0290 mono .1400 color			
Year 2	\$ 43.50	1,500	.0290 mono .1400 color	.0290 mono .1400 color			
Year 3	\$ 43.50	1,500	0200 mono	.0290 mono .1400 color			
Year 4	\$ 43.50	1,500	.0290 mono .1400 color	.0290 mono .1400 color			
Year 5	\$ 43.50	1,500	.0290 mono .1400 color	.0290 mono .1400 color			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	Monthly payment Rental (per unit)
Lexmark C748dte Color Laser Printer 35/35ppm	41H0100	\$ 1,884.00	33.54%		\$ 55.83	\$ 35.84	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 72.50	2,500	.0290 mono .1084 color	.0290 mono .1084 color			
Year 2	\$ 72.50	2,500	.0290 mono .1084 color	.0290 mono .1084 color			
Year 3	\$ 72.50	2,500	.0290 mono .1084 color	.0290 mono .1084 color			
Year 4	\$ 72.50	2,500	.0290 mono .1084 color	.0290 mono .1084 color			
Year 5	\$ 72.50	2,500	.0290 mono .1084 color	.0290 mono .1084 color			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark C792dhe Color Laser Printer 50/50ppm	47B0003	\$ 3,770.00	33.54%		\$ 111.71	\$ 71.71	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 61.25	2,500	.0245 mono .1033 color	.0245 mono .1033 color			
Year 2	\$ 61.25	2,500	.0245 mono .1033 color	.0245 mono .1033 color			
Year 3	\$ 61.25	2,500	.0245 mono .1033 color	.0245 mono .1033 color			
Year 4	\$ 61.25	2,500	.0245 mono .1033 color	.0245 mono .1033 color			
Year 5	\$ 61.25	2,500	.0245 mono .1033 color	.0245 mono .1033 color			

Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark C950de Color Laser Printer 50/45ppm	22Z0000	\$ 4,021.00	33.54%		\$ 119.15	\$ 76.49	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 131.20	4,000	.0328 mono .1157 color	.0328 mono .1157 color			
Year 2	\$ 131.20	4,000	.0328 mono .1157 color	.0328 mono .1157 color			
Year 3	\$ 131.20	4,000	.0328 mono .1157 color	.0328 mono .1157 color			
Year 4	\$ 131.20	4,000	.0328 mono .1157 color	.0328 mono .1157 color			
Year 5	\$ 131.20	4,000	.0328 mono .1157 color	.0328 mono .1157 color			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark CS310dn Color Laser Printer 25/25ppm	28C0050	\$ 512.86	33.54%		\$ 15.20	\$ 9.75	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 19.40	500	.0388 mono .1812 color	.0388 mono .1812 color			
Year 2	\$ 19.40	500	. 1812 color	.0388 mono .1812 color			
Year 3	\$ 19.40	500	.0388 mono .1812 color	.0388 mono .1812 color			
Year 4	\$ 19.40	500	.0388 mono .1812 color	.0388 mono .1812 color			
Year 5	\$ 19.40	500	.0388 mono .1812 color	.0388 mono .1812 color			
Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark CS410dtn Color Laser Printer 32/32ppm	28D0100	\$ 834.29	33.54%		\$ 24.72	\$ 15.87	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 31.40	800	.0388 mono .1812 color	.0388 mono .1812 color			
Year 2	\$ 31.40	800	.0388 mono .1812 color	.0388 mono .1812 color			
Year 3	\$ 31.40	800	.0388 mono .1812 color	.0388 mono .1812 color			
			.0388 mono				

Year 4 \$	\$ 31.40	800	.0388 mono .1812 color	.0388 mono .1812 color
Year 5 \$	\$ 31.40		.0388 mono .1812 color	.0388 mono .1812 color

Manufacturer, Model, Features, Description	Part Number	MSRP	DIR Customer Discount % from MSRP		MONTHLY PAYMENT 36 Month Lease (per unit)	MONTHLY PAYMENT 60 Month Lease (per unit)	MONTHLY PAYMENT RENTAL (per unit)
Lexmark CS510dte Color Laser Printer	28E0100	\$ 1,220.00	33.54%		\$ 36.15	\$ 23.20	NA
Annual Maintenance Including all Supplies for Leased Device	Monthly Base Maintenance \$	Copy Allowance (Number of Copies Included)	Overage Rate	Cost per Copy for Monthly Base Maintenance			
Year 1	\$ 46.80	1,500	.0312 mono .1468 color	.0312 mono .1468 color			
Year 2	\$ 46.80	1,500	.0312 mono .1468 color	.0312 mono .1468 color			
Year 3	\$ 46.80	1,500	.0312 mono .1468 color	.0312 mono .1468 color			
Year 4	\$ 46.80	1,500	.0312 mono .1468 color	.0312 mono .1468 color			